FRIEE WEMREFAE & TSTREHRSR

NERRRER =15 EAREAE7—F)—15 iﬁ:@%%ﬁ?—%ﬂ:ﬁ% 2018/07/22F84&
& fEm7—F)—1%
<<18m12_m>> = 1/2
E i MEFR| B 18m_ | 12m | #&E | 10| X |{E#E
1 |F &#H FEE ThERm7 —F ) —ne 331 350 681 |40 17
2 |FERRTIE FTER |HmEH7Z7-F)—HH 324 343] 6673112
L18mW /MNEELZFD>
2 B %‘Biﬁnﬂm_ Tl 18m( [ 18m@ | AT [ 10] X [lE=
1 TH & #E)E WEEH7F—FU—H= 262 287] 549 15] 6
L18mW /NEEBF>
A AT Tl 18m( [ 18m@ | #AET [ 10] X [lE=
15K XK ME|E [REEM7—FI)—ip= 317 298 615 16| 8
2 ;WA 28 #HE)NE BAER7—F)—HE 276 285 561 | 9] 1
3IBAE & MG (EEEHF—FU—H= 273 246] 519| 5| 2
L18mW HhEEBEF>
%_ﬁﬁ EBET Tl 18m@D | 18m@ | BAET [ 10] X [B=
1 BEHF ZE BZ)E 7Lt 7 HamEFR 312 307 619 | 13 7
2 |Fith %k #HZEIE [FLEe/T7HEESEFER 274 279 553 | 10| 1
3[R RIE #HENE |BEZDEEE 272 269 541 6| 4
4 LA FA #HZEIE [FLE/T7HEESEFER 274 242 516 | 4] 0
5 =M #iF Ax)IE |BEEATEE 267 234 501 | 4] o
6 [Fa3F BauA |[MR)E |[7LtA7 Mrems ek 258 235 493 6] 2
ML #HE)IE | FLEeAT7HEEEER 196 184 380] o] O
<18mW EREZF>
Z 0 [ BERR ] 18m(D [ 18m@ | #AEI [ 10] X [lB=
1 |E# fEE BE)E [BREREmR 297 307 604 | 11| 4
1K EE HE)E HEEREER 278 286 564 | 7] 2
<18mW ESRBF>
N LT I Tl 18m(D | 18m@ | RAET [ 10] X [B=
1 |REEX FEEINN ﬁ;:fé‘.%s‘c 320 299 61921 5
2 |MEER #HENE |HESK 284 292 576 | 9| 2
3 [RWHEXR #HENE |HESK 295 278 573 11 6
4 | BEHEE )R ﬁlﬁé.%ffs‘c 262 289 551 6] 2
<30m18m HELF>
% _Hl EEf B il 30m | 18m | #&5] 10] X |fEZ
ESTEES BE)E [BABHMS—FI—Ine 291 314 605 | 11| 4
2 |BR%F mExF [#F)IE BEEH7—FrU—HS 259 | 316 57513 5
<£30m18m thEBF> _
£ i B e il 30m | 18m |#&E[10] X |[EE
1 |BFHEE—ER RE#  |TU—FTFHTI— 344 353 697 | 50 | 23
2 BB FEE [MEHR7Z7—FV—HE 333 350 683 | 42 | 29
3 (AR REE  |BSEI GE 319 332 651 | 24| 8
4 |SEXIE HIRH  |BRIZEFRGE 302 316 618 20| 6
5 [ KHHD BRIH  |BWISERIRE 297 314 61111 ] 2
6 [ff K BEZ #HZEIE |[FLEA/7HEEEER 273 313 586 | 9| 4
AEEEE REE  |BSEI GE 265 302 567 | 11| 3
ST REE  |BSEI G 242 311 553 | 14] 6
<30mW HREZF>
& B MERR] = 30m( | 30m@ [ ARt [ 10| X [l=
1 [EBE EAE #EE [EREh7—F)—HE 270 | 266 536 ] 6] 2
<30mW HREBF>
& B MERR] = 30m@ [ 30m@ [#LEE[ 10 X [lw=
HEEEES B=)E [BABH,—FI—he 290 295 585| 9] 6
2 iR =B #HENE |NIT7—Fz)—957 283 269 552 | 6| 3
3 [lui@ ‘AN #ERINE EEERTE 258 265 523 | 4| 1
4 |55 [E HER |BEZDTEIHN 245 229 474 o 0
5 [FEF EA eI M E T LR 230 214 444 4] o
BETN BENE [EHRER 258 163 21 1] 0
1|58 &4E #HEIE [EHFPER 196 211 07| 2] 2
8 | A& #HENE |NT7—Fz)—9357 0 0 o] of o|xE
9 |[EE EA HE)E BRI 0 0 ol o] olxE
L30mW RELZFD
& B ME R = 30m@ [ 30m@ [#BEE[ 10 X [lw=
1| KK FF RE#  |[BE7—FI)—HE 242 227 469 | 4] 2
2 ')A &bF #ENE NNBHEREEET—FITI—057 222 176 308| 2] 1




FRIEE WEMREFAE & TSTREHRSR

NERRRER =i5: ERBREAE7—F)—15 %E E%QET—%:U;&% 2018/07/22F84&
& fEm7—Fz)—ins
<<30mW mfli%%» 2/9
Z Bl BT Fl 30m® | 30m@ [BEE [ 10 X [I5=
1 I‘lm Rif BE)NE [IBhEREEE7—F L)) 300 284 584 7] 3
2 =ik IJch #BENE |NIF—F)—H957 270 267 537 9| 3
3 [N & RIH Rk 290 | 239 520 6] 1
L30mW ERBF>
Z i 038 T R i 30m® [ 30m@ [ BEET [ 10] X [lo=
TE BAH (AR EHhessi 272 270 542 | 4] 1
2 [ILF X #HENE |[FLEATHEESEER 276 248 524 6| 2
3 |BEEH —# HENIE |EHEEER 267 234 501 [ 10] 2
4 |Kig 2 #HZEIE [FLE/T7HEESEFER 240 241 481 3| 2
5 | Rk & BENE EHFSEIR 193 233 426 | o o
6 |FR iRt B [EHeErh 201 193 394 2] 0
7 |$1E EX #HENE |[FLEATHEEEER 167 183 350 | 3| 1
8 [ H & #HENE |EHFEEEKR 183 146 329 2] 1
9 |MME Eth HENIE |EHEEER 129 126 255 2] o
10 |#3 4 2848 LI Tut»r?ﬁﬁﬁ.—,%q-h 0 0 ol o] o|&kE
11 |F1 fhzE HE)IE PEHSEER 0 0 o]l o] olxkpE
L50m30m HEBF>
Z_pi EE AT R il 50m | 30m |#&F]10] X |{FE
HEEEES BE)E [BABHMS—FI—Ine 310 332 642 | 23| 7
2 |#iE B ARG WEEH7 —F) = 248 | 301 540 | 8| 2
L50m30m FRELXF>
2 Bl | EERTR | il 50m | 30m |#&F]10] X |{EE
1|7a% Afcr [wmm#E |[TREAXKF7—Fr)—ms 231 280 511] 4] 1
<50m30m ﬁ‘iff-%:ﬁ»
% f1 [ HERR] Pl 50m | 30m |#&FH]10] X |{EZE
HEZES FE | RRAT 290 326 616 | 20| 6
2 [RE ¥ E RERXE 263 324 587 20| 4
3 [KEF B E RERERXE 255 310 565 | 8| 4
4 [EF7 ML #wENE |WNIXT7—Fz)—957 220 270 490 | 4| 2
5 |58 #BER #BENE |NITF—Fz)—957 200 289 489 5| 1
6 | KEF = RE# |BXT—FIi)—Hs 162 253 415 4] 1
<L50m30m EELFD
£ _§r HERIR il 50m | 30m |#&F]10] X |{EE
1|/t Y RE#  |[BER7—FI)—HmE 253 307 560 | 11 4
2 |#HE B #HENE |[FLEAT7HEAESEER 212 268 480 7] 5
3 [EE & #ENE |[FLEAT7HESEER 211 260 471 | 6| 1
4 & BK #HENE |[FLEAT7HESEER 144 271 415 7| 1
5 BT #E BENE |[FLEATHEEEFER 124 272 396 | 6] 2
HETEESS #XINE [FLEA7 A EER 145 216 361] 1] O
7 |EEM BE #HENE |[FLEAT7HESEER 0 0 o] of o|xE
8 [T XE AENE | FLEATHREEEFR 101 248] 349 1] 1|%#&:30mRITIEEA
<50m30m _ﬁ'ﬁ_&%?»
£ ml HEMR] il 50m | 30m |#&E[10] X |fB&
HEL3N B)IE [BABH,—FI—ne 249 311 560 | 14| 3
2 [+A 2 #E)NE HEEH7—FU—HE 236 305 541 7] 1
3 [FE = #HEIE |EHFaSEER 249 279 528 7] 1
4 |RNEA B&E #AEINE EHFSEFER 265 259 524 (15| 3
5 it —ig MENE |[FLEATHREEFR 224 | 256 480 | 2| 1
6 =l Fe BZ)NE [EL e Se S LR 183 284 467 [ 10| 5
7 |/\8# =% #HEIE [FLEA7HEEEER 193 272 465| 3| 2
8 [ZH &% #HERIE ELEEERESEIMER 184 254 438 | 5[ 1
9 B8 EiE #ENER ELEARSEIRER 154 284 438 3| 1
101 = MR (B ERIKEE TR 190 [ 244 434 4] 2
ERS B=)E (L Bo e s LErR 162 270 432 6] 1
12|5& A #ENE ELEARSEIRER 142 240 382 3] 1
13|/ Eh #HZE)IE ELEEEEREEIRER 154 228 382 1] o
14|53 && #ENE ELEARSEIRER 136 239 375 3| 1
15 |1k FA #E)E |EFEARSETRESER 133 230 363 4] 3
HEEERE ¥$"—FTJII,LR I3 108 176 284 o] ©
1752 K Mz [BERIE [EEtEEEREEIHER 103 142 245 2] o
18 |ER #7 #ENE ELEARSEIRER 67 110 177 o o
19 |55k 4t #HENE | FLEAT7HEAESEER 34 34 68| o o
20 | A ZE #EIE ELEEERESEIMER 150 286 436 | 2| o|x#: 30mX:I7’;':=;E)\
21 | =M #Is MR [EFERRSETRER 146 | 246 392 | 3| 1]%k#8:30mRITEREZA




